=
7N = o = = i
No. 1
I -H#E R g = stEE| B k=
<tI>
245 + 15.2=  39.7 39. 40
RiEY /MRS BHO. 28m3 m3
3.5 + 14.6= 451 45 45
RiEY AR m3
4.7 + 51= 19.8 19. 20 AL
HREL /NiEAE  BHO. 28m3 m3
21.9 + 9.3=  31.2 31. 31 AL
HREL AR m3
39.7 % 09- 19.8= 159 15. 16
5% 1 & iy 4t [=10. OkmLLF m3
N 9y 1L0. 45 (£0. 35)m3 100. 0 100. 100
N oo dEE| GESIEA - HA) -2 AAREEDTEA m3
100.0 100. 100
597" by hERK 4t L=7. 6kmLLF m3
<8ET>
22.6 22. 22. 6
REEREIE M-30 t=3cm m2
3.2 - 1.0)x 7.0= 154 15. 15.4
PRAET M-30 t=7cm m2
BEZRETAIVIZ 37.0 37. 37.0
== t=5cm m2
<@EEYpI>
W600 7.0 1. Ji
EMT KR T 24-12-25BB m
15.8 15. 15. 8
7Y)1-LT1H A#2B600xH600 m
1.0 1. 1
HOT 18-8-40BB =
1.0 1. 1
7hha B1200xL2000xH500 =X




7N = o
No. 2
ITiE - #iHE STAT = e

1.0 1.0

PEEET 18-8-40BB =
1.0 1.0

HOT 18-8-40BB =
2.0 2.0

RIRFEEE FE @100 X4E60.5 x

<EBELI>

12.2 12.2

SHLE R L Ast=15cmLLF m
43.0 43.0

SHL IR R INREE t=5cmLL T m2
1.0 1.0

EEYMEUE L 855 AR m3
0.4 0.4

BEEYMEUE L EH AA m3
43.0%  0.05= 2.2 2.2

B As 2t 17.0kmLLF m3
2t 1.0 1.0

597" by hERK Co (B#p) 15.3kmLLF m3
2t 0. 40 0.4

597" by hERK Co (#pmR) 15.3kmLAF m3
2.2 2.2

BEH As m3
1.0 1.0

REH Co () m3
0.4 0.4

REH Co (M) m3




KB

10.0m% )
72NN
1000
200 600 200
708 & EER)
T (XBK90-GORIH ) | | R 1000
— __],_A—“t:gh:—:r7 E3) 0 6@133=800 0
8 75557 8 2
¥ Lavy)-+
18-8-40BB - ™
z#mps / |10 1000 0 N N
RC-40
1200 [OIE
IHE= 1.050
EHKEAS=  0.090
JL—FoJ&S5= 0710
2 &t g = Bl % 2
S EETYH1-h 1050 X 1.000 x 10.000 = 10.500
24-12-25BB - 0710 x 0600 X 10.000 = -4.260
- 0090 x 0720 x 10.000 = -0.648
Y= 5592 |m®| 56
ES e ( 1050 + 0710 )x 2 x 10.000 = 35200 | m?| 352
¥'L-Fv4"#(B600) T-25 (X5X090-60[F % @) RA7h St = 100 # | 100
ER#kmmD13)
19.0 x 10.000 x 0.995 = 189.050 | kg
+ 670 x 2420 X 0995 = 161.329 | kg
Y= 350379 | kg | 350
= t| 04
#L2v91)—N18-8-40BB) 1200 X 0.100 x 10.000 = 1200 | m*| 12
LB 0.100 x 2 x 10.000 = 2000 | m?| 20
HE B A (RC-40t=200) 1.200 X 10.000 = 12.000 | m?| 12,0
EEBIF(LH) 1.200 X 10.000 = 12.000 | m?| 12,0




2a-LAT1E

10.0m4 Y
iR TN
600
A+SY bk
L50x50 T\ AU ~47Y2-L
TE LR B600 x H600
#10 \
11
\/ j pRELes
¢ R
EREE  /
D16-800
@1020
2 &t =1 = Bl % 2
IV —FUET1— A AF4B600 x H600 t=1.6 10.00 = 1.020 = 98| & | 98
ER8kH(D16) 10.000 = 1.020 x 2 X 0.800 X 1.560 = 24470 | kg | 245
= t | 002
HELEF(#10) 10000 — 1.020 X 2 X 0.030 = 0588 |kg| 06
HBELTDS 05%03x0.1 F&EF REEMT 10000 x 2 = 20000 | m | 200

( 10.000 = 0.300 x 2

= 66.667 %)




mOoT 1.0st Y

&
P T
==

3000

300

FEHaL o)~k

2400 300 2250 300 18-8-4088

EREREHP ¢ 900

BEERTEHP 6 900

2550

300

2250

FH=87. 95

2550 ol

E-3 1520
2650 RC-40

3000

60_ 600 830 810

p; 3000 1o
3200

1800
1500
930

laog,

F

B W

EEHIVY)-H
18-8-40BB
INEY

AL

A (RC-40t=200)

AEEEIE(THW)

0.300
1.800
0.600
1.500
24

0.300
1.800
0.930
0.600
1.800
0.600
1.500
2.400

3.200

3.200

1.800
3.000
0.930
0.300
2.250

X X X X +

1.800
3.000
0.300
0.300
0.300
0.930
20
0.300

X X X X X X X +

X 2.650

X 2.650

Hi =1 = B # =2
)=2x 2250 X 0300 X 20 = 1418
X 0.300 = 1620
x 0.300 = -0.167
mfE 1.50/LCADRE&YHAEY = -0.450
x 0.300 = 1620
Y= 4041 |m®| 40

)+=2% 2250 x 40 = 9450
x 20 = 10.800
X 20 = 0558
= 0.180

X 20 = -1.080
x 20 = -1.116
mfE 1.50[LCADEELYFHAEY = -3.000
= 0.720

Y= 16512 | m*| 165

8.480 [ m*| 85

8.480 [ m*| 85




7k

= |

1.0y
72NV
1200
Jk2hAT N=24FR
B1200 x L2000 x H500
f| s
1 I
B3
@ 15~20cm
W LERIEE
t=10mm 10kN/m
mE N=AK
0O 9cm
£E& 1.5m
% W Hi = = Bl $% 2
JhohIT B1200 x L2000 x H500 = 2000 [{@FfR 2.0
ER(p15~20cm) 1200 « 0500 x 2000 X 2 X 0.95 = 2280 |m’| 23
0% i URA 44 t=10mm 10kN/m
e 1.20 X 0.50 X 2=1.20
K@ 1.20 X 4.00=4.80
=m| 4.00 x 0.50=2.00
( 120 + 480 + 200 ) x 107 = 856 |m?| 86
EEEBE(EW) 1.20 X 4.00 = 4800 | m?| 48
W 40 (kO9cm  L=1.5m) = 40| KX | 40




1.0 %Y
72N
PERE T
460
J/90-+
/W
|
| Ep012 L=0.2n 242
({8 {8l)
510\ Z5D13 L=0.2n 3%
% ¥ & g = B % 2
aVH)-k(NEY)
18-8-40BB
( 0.460 0510 )/ 2000 * 0650 * 0.600 = 0189 |m®| 02
Eily A
( 0.650 0.652 )* 0.600 = 0781 |m?| 08
=i
( 0.200 2000 * 2000 + 0200 * 3.000 )* 0995 = 1.393
1.393 1000 = 0001 | t | 0001




1.0 %Y
72 VN
FEOI g
E@EE TD-DHrm&
ol
il
% &t =1 = Bl % 2
I+ ( 0414 + 0574 )=2x 0800 = 0.395
18-8-40BB ( 0414 + 0664 )=2x 1250 = 0.674
INEY 0.300 x 3.000 = 0.900
0300 x 4.190 = 1.257
0395 + 0.674 + 0.900 = 1.969
0395 + 0.674 + 1.257 = 2326
( 1969 + 2326 )=2x 2220 = 4.767 = 4767 |m’| 48
iy e ( 0414 + 0574 )=2x 0.800 = 0395
( 0414 + 0664 )=2x 1250 = 0674
0300 x 4.190 =  1.257
0.800 x 1.020 x 2.300 = 1877
1250 X 1.020 X 2.300 = 2933
( 1100 + 1550 )x 2.300 = 6.095
Y= 13231 | m?| 132
HEmEEIE ( 3000 + 4190 )=2x 2220 = 7.981 8.0




iEE

a3t A= 37.0 m

TEEE A= 22.6 m



R
2550
2250 D
8 g HtOT
Si o
‘ 3 g
/ A=6.1
1600
- -t 7Y1-LT 18
o
=
0 J
A=1.1
3200
&K T
UET
A=3.5
| 2000

B

L=

5.0
6. 1
5.0
30.5 m

o ox 3, =

13.3
1.1
13.3
14.6 m

.o ox 3, 3

1.0
3.5
1.0
24.5 m

. X EE

J A=3.8 A=(3.8+5.2) /2=4.5

HOI

A=5.2 J

L=
A=
Vi=
V2=
2 V=

2.22 m
4.5 m
2.22 X
1.0 x
15.2 m

6.

1.

1

1

3.5

(BE)

4.5
5.2

9.99
5.2



HRL HAOT L= 50 m

A= 3.2 m

V= 50 x 3.2 = 16.0
(AT#8) V= 3.4m2)*1.0%2 = 6.8

(v -+ERR) V= 0. 6%0. 6%2. 5=0. 9

/ %60 1Ml A=32 S V= 16+6. 8-0. 9=21. 9

0 1500
1800

0p

2650 (RiT#%)A=3.4 = 21.9 m
1600
W1-LT1E = 13.3 m
DRSS e . A= 0.7 m
3 V= 13.3 x 0.7
y V= 9.3
A=0.7
3200 |
4 MEKET L= 7.0 m
/T . A= 2.1
S V= 7.0 x 2.1

AOT L= 2.22 m
A= 2.3 m
V= 2.22 x 2.3
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97910~
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TEeXTEX*
ocwo oo~
. O . AN AN —
o< aaw
w1
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=
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B
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12.2 m

5.9 + 6.3

L=

HEE BT t=5.0

&
"



avy')—MEEERIRL

D)
iz K
400
L=0.6m
510
& W &t g = Hil % &
|-+ (0400 + 0510 )/ 2 % 1450 * 0.600 040 | m®| 04




#EAavy)-MEERERL

1.0y
fs K
{
= T
: |
! r s (=1
RNy
T |ls
L
_F- _ L
BfF : mm
| PE ‘ | B BEME |S£EE
EF D D D D 2 (/) /) 2 2
‘u} *& D 1 | 2 3 ‘ 4 T 1 2 a 4 5 L (kg]
150 150 210 206 194 262 26 115 50 77
200 200 262 258 246 316 27 32 55 103
250 250 314 310 298 370 28 65 90 60 2,000 131
300 300 368 364 350 424 30 120 165
350 | 350 | 422 418| 404| 482 | 32 65 204
400 400 478 474 460 544 | 35 36 125 70 306
450 450 534 530 516 606 38 70 95 75 373
500 500 592 588 574 672 42 130 85 459
‘ 600 600 708 704 690 804 50 75 L 100 135 100 660
| 700 700 824 820 802 936 58 105 140 115 5430 899
800 800 940 936 918 | 1,068 | 66 80 110 40 150 130 |™— | 1,170
200 900 | 1,058 | 1,054 | 1,036 | 1,204 | 75 85 115 160 150 1,520
L=9.3m
& W it g = Bl % =
3
$RERIV)-b 0.660 / 2430 / 250 * 9.300 101 | m 1.0




